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gR1(M)] reflection Ro(A)=log[R(\)/0,20}=logRa()] reflection gR1(\)] reflection Ro(A)=log[R(\)/0,20}=logRa()] reflection
350m device cyan-blueCq Ad=489nm i 350m device cyan-blueCq Ad=489nm
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(V)/0,20]=logR1(M)] refiection ﬁz(h)-log{ﬂ@)lﬁ R1(\)] reflection (\)=Iog[R(\)/0, R1(\)] refiection ﬁz(h)-log{ﬂ@)lﬁ 20]=logR1(M)] reflection
device blueBy  Ad=463nm device magenta-redVld  Ac=535cnm device blueBg  Ad=463nm device magenta-redVld  Ac=535cnm
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a[R(A)/0,20]=logRy(M)] reflection a[R(A)/0,20]=logRy(M)] reflection
. s equalto for arey colours. device whiteWd
L00R(A) CIELAB lightness L*: 100, d hit OB 116 70+ 1.00R(\) SRR lghiness L 1009
aw(A) = 5,Ry an [ 03561 aw(A) = 5,Ry an
It vai: logRun)] = 0.70; logR)] = -0.70 035 It vai: logRun)] = 0.70; logRi)] = -0.70
therefore: logRin(A)] + log[Ruw(A) alRizV)]. [2) 0 3| | herefore: logRun(¥)] + log[Ruw() alRizV)]. [2)
For all reflections withRy(\)=R()/0,20 it s valid; For all reflections witfRi(\)=R(A)/0,20 it s valid;
Ru(h) = 0,04.Rz(n) = 0,20 Rw(A) = 1,00, 3 N ,04,Rz(0) = 0,20, Rw(A) = 1,00,
For the figure case it () o
0,040 In this case is thecene contrastC = 0,282:0,141 = 0
500 Both CIELAB and tiangl lghn onal t0 o) 400 500 Both CIELAB and riangle
wavelengthA/nm for (3 near 1.00 oR() near 0,20, for example for the contrast 2 wavelengthA/nm for R near 1,00 oR)

TUB-test chart BEE9; Wavelength ranges @ﬁwaldcolours+wc :1and 8:1 input:rgh/n
Normallzed reflection’ lod}(A)/0,2] and model relation to Ilghtness of the antagonistic signals




